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ARITHMETIC

INTEGERS: Integers are all positive and negative whole numbers including 0.

WHOLE NUMBERS Whole numbers are the numbers : 0, 1, 2, 3, 4, 5, 6, 9, 8, 9, 10, 11, 12, 13... and so on.

ADDITION OF WHOLE NUMBERS

SUBTRACTION OF WHOLE NUMBERS

MULTIPLICATION OF WHOLE NUMBERS 

DIVISION OF WHOLE NUMBERS
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LOWEST COMMON MULTIPLE (LCM) AND HIGHEST COMMON FACTOR (HCF)
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PRECEDENCE

34 - 2 × (3 × (6 - 2) + 3)

USE OF VARIABLES

Calculate the value of 2 (x + 3y) - 4xy When x = 5 and y = 2

Calculate the value of u + at When u = 2, a = 4 and t = 9

34 - 2 × (3 × (6 - 2) + 3)
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POSITIVE AND NEGATIVE NUMBERS (SIGNED NUMBERS)

The weight of an aircraft is 2 000 pounds. A radio rack weighing 3 pounds and a transceiver weighing 10 pounds are removed from the 
aircraft. What is the new weight? For weight and balance purposes, all weight removed from an aircraft is given a minus sign, and all weight 
added is given a plus sign.

ADDITION OF POSITIVE AND NEGATIVE 
NUMBERS

SUBTRACTION OF POSITIVE AND NEGATIVE NUMBERS 

Example: The daytime temperature in the city of Denver was 6° below zero (−6°). An airplane is cruising at 15 000 feet above Denver. 
The temperature at 15 000 feet is 20° colder than in the city of Denver. What is the temperature at 15 000 feet?

MULTIPLICATION OF POSITIVE AND NEGATIVE NUMBERS

 3 × 6 = 18, 
−3 × 6 = −18, 
3 × −6 = −18
−3 × −6 = 18

DIVISION OF POSITIVE AND NEGATIVE NUMBERS

6 ÷ 3 = 2, 
−6 ÷ 3 = −2,

−6 ÷ −3 = 2, 
6 ÷ −3 = −2
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= 2000 + -5 + - 10 = 2000 + - 13 = 1987
20 + - 20 =0

2000 -3 - 10 =
-20 + 20 = 0

2000 - 13 = 20 - (- 20) = 40

- 20 + -20 =
- 7

-6 + -20 = -26



FRACTIONS

numerator

denominator The denominator of a fraction cannot be 0

A proper fraction 

1⁄4, 1⁄2, 3⁄16, and 7⁄8

proper fraction :قوف يلا نم بكا تحت يلا مقرلا

improper fraction: 

4⁄4, 9⁄8, 26⁄21,  3⁄2 

improper fraction :تحت يلا نم ربكا قوف يلا مقرلا

mixed numbers

11⁄2, 51⁄4, 103⁄4, and 81⁄8

ADDITION AND SUBTRACTION OF FRACTIONS
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MULTIPLICATION OF FRACTIONS

DIVISION OF FRACTIONS
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THE DECIMAL NUMBER SYSTEM

ADDITION OF DECIMAL NUMBERS

SUBTRACTION OF DECIMAL NUMBERS

MULTIPLICATION OF DECIMAL NUMBERS
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DIVISION OF DECIMAL NUMBERS
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AREA AND VOLUME

RECTANGLE

SQUARE

TRIANGLE

1 = 6M

I = 5m

Area : 6 x 5= 30

W = 7

L = 3

Area = 7 X 3 =2 1
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PARALLELOGRAM

TRAPEZOID
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CIRCLE

WING AREA

D = 10
~ 7

As
C = 2 x 3 . 14 x 5

C = 10 x 3 . 14 = 31 .o

x

do

C = 30 WA = 30 x 100 = 3000

5 = 100



RECTANGULAR SOLIDS

CUBE



CYLINDER

SPHERE

H = 20
N = 5

v = 3 .

14x52 x20
= 3 . 14 x 25 x20

v = 1570
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